B
e

@
2A




0
o
o|J

B
eI

@ %
iR & Y
T1_'_1:r:] e}
HOo =2 &=
=
#po] gl
=]
ot

®
_?4, o
Feell gl
Hol A=

Bagol




=
o

© o5

A5 AAEE oln AYU7?

@ ii
@
O
O
A7159 AAEE 229 GUL A goln, YA4EY
9], ofehel TS do] Gyt




o




—

e

U

o FU
ks %V‘
sy

@ &°l




@ RAL 27]AdYrt.

Ho] o2 BHdyrt

BH

o 271 Ayt

B!

@ 4

Br&UT
Wk,

al
=

o o
T 60
{F
ol o7 ol
T B E
M BH U

T o o

SRR




®o.e

CRONG)

® o0

® 0,.6,e

® 0,06

e B B

X & H
o) n_Al K
RS 0 o
Moo g
~ of
&4 ,_.Fo .
wOA <
0 o o°
0
*ooo
i B

ﬁ mo
w%HE
A . on
RS o
RT R P o E
ol o% ny AT
g ™ o M dn <
B g ot U
_m”ﬁo,.r_u_':._
B ﬂﬂqw._wuhnﬂl
7_|‘ﬂlpr RN
=g oE R
RO H o H of
il o
o) F oo ] W I
to B N o) T T T
~ R EhEh ] T
R o o

© © 00




8.

& 2ge weel A5l 1

cm
AUt o] AMNES] 5 9] dol= % cm AA] A L.
= =
| s
> = cm
> Hg 135.6cm

. E=oI7F5em &1 @759 e

27150 AAmo A 4471
o] S#e} Z&UT
(5x2x3.14) x4+ (5% 2)
125.6 4+ 10 = 135.6( cm)
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